
1 ST-COV-M5-V4 Top Sticker 1

2 COV-M5RS-RED-V2 Cover - Red 1

3 FOAM-COUM5RS-ST Sound Insulation - Cover 1

4 FOAM-CYLM5RS-ST Sound Insulation - Cylinder 1

5 GAS-PIP89 Gasket - Air Exhaust 1

6 PIP-89-BK Air Exhaust Fitting - Black 1

7 CYL-M5RS-8-RED-V2 Cylinder - Red 1

8 GAS-CAN-V1 Gasket - Canister/Cylinder 1

9 CAN-M5-25-ST-RS Canister 25L - Silver 1

10 BRA-SUPCAN-V1 Latch 2

11 CANSUP-MSER-V1 Handle - Canister 2

12 BRA-MTR-M5-V1 Motor Bracket 1

13 MTRRING-5.7-V2 Motor Ring 1

14 GAS-MTRRING-5.7-V1 Gasket - Motor Ring 1

15 MOT-264 Motor 1

16 POL-MTR-M5-V1 Rod for Motor 4

17 GAS-MTR-5.7" Motor Gasket 1

18 PIP-01-BK Stop Coupling - Black 1

19 MUSUP-V4 Mural Support 1

20 PAD-MUSUP-TOP-V4 Gasket - Mural Support 2

21 BRA-MUSUP-M5 Bracket - Mural Support/Cylinder 1

22 PIP-39 Internal Flanged Stop Coupling 1

23 GAS-PIP39 Gasket- Internal Flanged Stop Coupling 1

24 PIP-STR/EG11 Strain Relief 1

25 PLG-110/120 Power Cord 1

26 PIP-10ALU-M5-V1 Air Intake Pipe 1

27 GAS-PCB 6114-V1 Gasket - Electronic Module (PCB) 1

28 6114-19C2 Electronic Module (PCB) 1

29 PIP-62 Elbow Adapter for Bag 1

30 FD-12.5L Disposable Filtration Bag 1

31 FP-8 Permanent Filter 1

32 LV-SOCKET-V3 Low-Voltage Wire Socket 1

33 ACC-AR-BK Air-Release Valve - Black 1

34 ST-NAWARNING-10-02-2013 Warning Sticker - North America 1

35 NA-SE-ST-700-25-11-04-2024 Serial Number sticker 1

36 NA-E-ST-NAD-ST-LED-11-04-2024 Electronic module sticker 1

37 ST-NAD-ST25-700-05-06-2024 LOGO sticker 1

38 M6-30 Screw for Cover 1

39 M5-16 Screw for POL-MTR 8

40 M4-12 Screw for PIP-39 4

41 M4-20 Ground Screw 1

42 M4-12 Screw for Low-Voltage Wire Socket 2

43 M4-8 Screw for Motor Ring 4

44 M4-13 Aluminum Rivet 4

45 M4-12 Aluminum Rivet 8

46 M4-12 Stainless Steel Rivet 4

47 M3.2-6 Aluminum Rivet 1

48 M3.2-6 Aluminum Rivet 1

49 ST4.8-38 ST4.8-38 3

50 Nylon M4 Washer 4

51 M4 Nut 5

52 M4 Nylon Washer 1

53 M4 Star Washer 4

54 M4 Washer 2

55 M4 Big Washer 8

56 QUI-358 Wall Rubber Anchor 3

NADAIR ST-700-25H

Fastener

# Part Name English Description QTY


